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NCF 2005 @ 3R TR fRie1o1 &1 7o % Sqeva & |
(F) == B Raw whiea o1 TRRER H3

(@) e WE Prere B ReR e

(1)  EHEI GHIE BT B e e

(a) freawonse dradan o Qg B3

According to NCF 2005, one of the main objectives of Mathematics teaching
in Schools in ;

(A) Mathematization of thought process of the Child
(B) To develop number skill

(C) To develop problem solving skill

(D) To feed analytic ability

& AR gfg o1 g0l 9N 9 iR a1 ¥ »iers e ¥ 98 4 A
ferifea © el o SR R §

(%) fewifdmm (@) feenfem

(1) fewdhergfemn (u) e

A child with normal intelligence show difficulty in reading and comprehending
language. It indicates that the child is showing the symptoms of ;

(A) Dyslexia (B) Dysgraphia
(C) Dyscalculia (D) Dyspraxia

"I WIEm TR UG §

(%) Frme R (@) weirer Ry

(M)  dzewo fafy (m) fovemo fafd

‘Learing by Doning’ is Based on ;

(A) Inductive method (B) Project method
(C) Synthesis method (D) Analysis method
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ﬁ@ﬂémmquﬁﬁwﬁﬁﬁwmmm%;

(®) orftrm (@) STieRRT RIHTRoT

(1) aRaeaa (|) sremRE

Use of learnt action in other circumstances is called ;

(A) Learning (B)  Transfer of Learning
(C) Maturity (D) Study

aret Bivaa Ram iy &1 geg oy

(%) B, W B, T ATAR TaMI

(@) ©E P S TR Td F B AR T

(1) & B W Y B v e

(a) ol ® wrfed w9 & ygr

Main characteristic of Child Centred Jearning method is ;
(A)  What the students say, teach accordingly

(B)  Teaching students according to their interest and need
(C)  Teaching students for a short time

(D) Teaching students altogether

fRieror & w9 T Al FRE ¥

(¥) BEl B TS S

(@) BEl B T BR e

(1) gl @ A e

(9) =M e

The least important factor in teaching is ;
(A) Punishing the Students

(B)  Providing Home-Work to Students
(C) Teaching as afacilitator

(D) Lecturing
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7. ‘fher TR I d S em ¥

(®) omragr (@) wa

(1) <@ (a) ¥ | Big TR
Father of ‘Kinder Garten’ Method is ;

(A) Armstrong (B) Froebel

(C) Dewey (D) None of these

8. ‘fosme’ 9i9e & 9raq o 5w iy &1 9as § ;

(®) <@ (@) #=

() i () agfaw

Which pace of learning of a Child show ‘Backwardness’ ;
(A) Fast (B) Slow

(C) Average (D) Multiple

9. Ifd DOVE &) %e w1 # ITAJ foran siren & <t HATE &1 S i1 § 99 foran

ST ?

(®) MYFJ (") JMYF

(71) MEYK (&) MFYJ

In a certain code ‘DOVE’ is written as ‘ITAJ’. How will be ‘HATE’ written in
that code.

(Ay MYEJ (B) IMYF

(C) MEYK (D) MFY]J

10. €1 weEmai 9 geee Raw o A wd e wRy
(S
A
(®) 67 (@) 66
([1) 3 (u1) 134
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11.

12.

13.

Fill in the blank with appropriate number select in from the given numbers ;

& ’

(A) 67 (B) 66
< 3 (D) 134

E EN =37 R MUG = 215 MEN B1 A § -
(®) 35 (@) 32
(M) 26 (") 40

If HEN = 37 and MUG = 41 then the value of MEN is ;
(A) 35 (B) 32
(C) 26 (D) 40

e g g wes #, € 18 siwen W o 51 T Bl

ADGH : FILM :: HDGI : ?

(¥®) MILK (@) KLIM

(1) IMKL (a) HDGF

In the following question, Find the missing one from the given Series
ADGH : FILM :: HDGI : ?

(A) MILK (B) KLIM

(©) IMKL (D) HDGF

A pr e~ e B Rl wen — w e ¥ x )
BIF T TG W ¥ ?

(®) 3+7-5 %10 +3=10 (") ex2+43+12-3=15

(1) 8+10-3+5 x6=8 (°a) 15-5+5%20+10=6
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*x’ stands for -, ‘=’ stands for ‘+’, ‘+’ stands for ‘<’ and ‘-’ stands
for ‘x’, Then which equation is Correct ?

(A) 3-+7-5 %10 +3=10 (B) ex2+3+12-3=15
(C) 8+10-3+5 %X6=8 (D) 15-5+5%20+1076
/=1 9 g wem @ g w8

9:22::16:7

(@) 60 (@) 32

(1) 40 (a) 64

Find the missing number in the following ;

0:22::16:7
(A) 60 (B) 32
(€C) 40 (D) 64

TY gul Wil 1 3TN 66 T TAT THI SIUN 235 ¥, A 7 FE&W ¥
(®) 44,110 (@) 220, 154

(1) 75,9 (e1) 12,78

The difference between two whole numbers is 66. The ratio of the two numbers
is 2:5. These two numbers are ;

(A) 44,110 (B) 220, 154
€y 75,9 (D) 12,78
23 R — %7

2 16

(®) 4 (@) 2

(1) 8 (e1) 16
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1 .1
How many Te are there in 5 ?

(A) 4 (B) 2
) 8 D) 16

3 :58 P.M @ 5 Ht 59 fime ugel fbem a1 &1 wwar gFm 2
() 10:01AM (@) 8:59 AM
(A1) 9:59 AM (7)) 10:59P.M

What will be the time 5 Hours 59 minutes before 3: 58 P.M ?
(A) 10:01 AM (B) 8:59AM
(C) 9:59AM (D) 10:59PM

BB WA B a5 3 fhall 80 07 ¥ 3R T & Bt @1 ao 1 fhell 250 W
AR BT g Bl D qo A SATE B

(®) 1fFet 450 am (@) 5 fFa) 150 7MW
(1) 2fFat 450 am (=) 2 fbell 250 W

The weight of some oranges is 3 kg 800 gm. and that of some bananas is 1 kg

350 gm. The weight of the oranges is greater That of the bananas by-

(A) 1kgd450 gm (B) 5kg150 gm
(C) 2kg450 gm (D) 2kg250 gm

95 62 . 453 # 6 2R 5 B YA HM BT 3R G B

(%) 11.000 (@) 01.453
(71) 60.95 (%) 59.95

Find the difference of place values of 6 and 5 in 95 62 .453

(A) 11.000 (B) 01.453

(C) 60.95 (D) 59.95

F
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6.07 Bl Ufiea H e &

(F) 6.07% (@) 0607%

(1) 0.0607 % (1) 607 %

Express 6.07 in terms of percentage.

(A) 6.07% (B) 0.607%
(C) 0.0607 % (D) 607 %

W9 iy R8P I8 AHST & fh dI9s W@ w9 9 dsfhal § e 9 st
WA TN U g e 5 erw 3

(@) s (@) e

(1) fHET-9=) (a) o= | @

When a teacher considers boys as naturally better at Mathematics than girls. It

shows that the teacher is ;

(A) Thinker (B) Moralistic
(C) Gender-Biased (D) Right-Minded

o v & ArRe IR arafs <M oy 7 ad ¥ 9 S e Ao o v on
e & ?

(%) <™ ghg 9 < (w) wm= gy

(M) <mgls (a) ufrmeTen

Both the mental age and chronological age of a pupil is 7 years. He may be

classified into which category ?

(A) Below normal intelligence (B) Normal intelligence

(C)  Superior intelligence (D) Genius

?
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T4 9 B NCF 2005 &1 0% arfeeie Rigrg 9
(P) vdEa Teu-gxa®i & e

(|) o @ 91 B BH BT

(1) 9_en woeh B s T T

(a) <udad wf

Which of these is a guideline principle of NCF 2005 ?

(A) Develop Integrated books
(B) Reduce Knapsack burden

(C) Making examination system more flexible
(D)  All of these

IS—AISTT T H&I A ;

(B) frepd (@) g

(1) FE (") UGB

The main part of a lesson plan is -

(A) Conclusion (B) Revision
(C) Preparation (D) Presentation

ST fOramT) < ST v sraven A Tt W oRqd o Td @R were ek 2
&7

(®) g IR 3raven § (=) e wfthan sramen ¥
(W) < ufssan srawen § (a) SR uftsar seen #

According to Jean Piaget, children develop abstract logic and reasoning skill

during ;
(A)  Sensorimotor stage (B) pre operational stage
(C)  Concrete operational stage (D) Formal operational stage
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26. I NER & EETS SN & wed faeniRial B wiewfRa e e E

(®) Ffeai | i g=m (@) warRel | FrEiRE 619 S
() FraEiRE 6 AR A TN ER (a) /[N

Under constructivist approach of mathematics. Learning, learners are

encouraged to ;

(A) Avoid errors completely
(B) Discover the rules/formulae from the examples

(C) Emphasis on memorizing rules/formulae

(D) All of these

ferpt o1 Rl @ wae 5 o=@ B e iR EEedl IS | Al
IRT T T/ BT Dl 99 Gl § e Ay s ar | Rl ;

() TE 9§ (@) 44w
(1) R D $GF (7) WD TEE O ¢

Teacher should present information befor the Students clearly and in interesting

way and relate this new information to the things, Students ;

(A) Don’t know (B) Already know
(C) Willing to know (D) Not willing to know

<t i & Ry w-fore 4R &9 W 399 9 fvadl e 4 w78l v S B 2

(®) ol (@) SFRTFEETS Sqavd
() wEEl B Wwq (u) TReo—wwg
Which one of the following is not taken into consideration while preparing the

Blue print for a test ?

(A) Topic (B) Instructional Objectives
(C) From of Questions (D) Teaching-Time

/0
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TS TR o1 g wiraifea fven

() wrieE® (@) uraelta
(1) argH (%) ~rord

Principle of Social Learning was developed by ;

(A) Thorndike (B) Povlov
(C) Bandura (D) Rogers

T4 9 B 9 W #asnie Rgral @ e Frae ¥ 2

(®) weiRR (@) =
(1) SAYwTE (1) s/ wR

Which Strategy of these is very close to psychological principles ?

(A) Question-Answer (B) Lecture
(C) Text-Book (D)  All of these

XS 310 R W ol Y% Bl ¢ MR S foen # 5 fh oo wreran & vk ww 9
A W1 § 3R 5 fhowo aeren &, fihv W 98 and g@ et ¥ 3 wern o v
BlomaEfrufRend s ¥ ?

(B) S (@) <fm
(1) T (a) uft=m

Ranjan starts walking from his house and walks 5 km. to the north, then he turns
right and walks 5 km, again he turns right and keeps walking. Now he is walking

in which direction ?

(A) North (B) South
(C) East (D) West

L4
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32. TS sl W foam @i € 2

(®) 5 (@) e
(1) 7 (a1) 8

How many squares are there in the following Picture ?

Ay S B) 6
© 7 D) 8

33. frewifsa A o wragE e ¥ 7

(®) (28, 49) (@) (14, 42)

(71) (35, 63) (a1) (56, 65)

Which group is Odd in the following ;

(A) (28,49) (B) (14, 42)
(C) (35,63) (D) (56, 65)

34. ‘9% T UHR ‘99’ | GERE ¥, o0 ver aRae’ e d @ e wele £ 2
(®) i (@) w=
(M) wsw (u) Siew

19
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As the Bank is related to ‘Money’ like that ‘Transport’ is related to which of the

following ;
(A) Speed (B) Goods
(C}) Road (D) Traffic

35. TP UL 4 :30 991 E1 IR Fire B E Swe B iR kA W o g frw e §

BRI 2
(%) < (@) =i
(1) Sae-ufem (u) ww-qd

Itis 4 : 30 in a watch. If minute hand is to the north, then in which direction, the

hour hand is ?

(A) North (B) South-East
(C) North-West (D) North-East

36. A ‘o’ B 'HHY’ BEl O R, ‘THE’ B 99 Bl O ¥, a9’ B e FE
HE ST 8, 79 el Hel IS B 2
(@) ‘g4 (@) ‘fer 4
() ‘gEa’ d® (a) ‘aui’ ¥

If “‘Cloud’ is called ‘White’, ‘White’ is called ‘Rain’, ‘Rain’ is called ‘Green’,

‘Green’ is called ‘Air’, ‘Air’ is called ‘Blue’, and ‘Blue’ is called ‘Water’ Then

where do the Birds Fly ?
(A) Inthe ‘Air’ (B} Inthe ‘Blue’
(C} Inthe ‘Cloud’ (D)  Inthe ‘Rain’

13
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37. freiRraven o v fewen T ¥ ;

(F) <A &1 3nferry (@) <= o iy
(M) B B qgerdl (a) «=Ri® e

Which of these is not a main element of adolescence ?

(A) Adequacy of emotions (B) Habit of saving
(C) Superfluity of imagination (D) Mental development

38. = 9 ¥ o 9t ftrm vl ® serevo & ?
(i) 189 IR wHa—arfaeat &1 fFreatwor
(i1) Wree =e @R Wwe-fiEl @1 foHio
(iii) S=Texvll 9 IR ISRV B AN | |
(iv) wweg |l & = e

(v) a4 9 qB—are

(®) (i) () (v) (@) (i) (i) (i) (v)
() (i) (i) (i) (iv) (v) (=) (@D (i) (i)

Which of the following are examples of effective Learning Strategies ?

1) Setting goals and time tables

ii) making organizational chart and concept maps

(
(
(iii) Thinking of examples and non examples
(iv) Explaining to a peer

(

v) Self-Questioning

(A) (@) (D) (v) (B) () @) Gii) (v)
(©) @ (i) (i) (iv) (v) D) @ @) (i)

14
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<oy e e wd wftteror aReg, fer & v g ;

(w) 1986 4 (@) 19919
(71) 1981 # (g) 1988 #

State council of Educational Research and Training was established in

(A) 1986 (B) 1991
(€) 1981 (D) 1988

1 | &1 T Rers N yftrer & e e ey & 2

(®) v e o FuiRa dieagwas B gear § SaRen T =Ryl

(@) W IRM B 78 F1 Fmio B el 92 dae iR @e-4F @ g 9
A aa |

(1) Y IR UISHHH B R B HEAYO! B

(a) e o Tecayel sfir ¥ 75 ag avi-we # srgema g9 <)

Which one of the following best describes a teacher’s role?

(A) A Teacher should adhere to the prescribed Text-book

(B) Creating a relaxed space where children may learn through dialogue and
enquiry
(C) Completing the syllabus on time

(D} Teacher’s most important role in the classroom is to maintain discipline
S SR iR o B sR-BR oEl ¥ Rufhg o= 30 ¥ @ifF 9z <@
ATAT & TR P | I§ SIATT DY W ¥ ;

(#) wErs fawar vk (@) U wiey faweryor ufgean
(1) Torameiet e (&) =grremTRa

15
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Jyotsana often divides the assigned job into small tasks which she can handle

easily. She is using ;

(A)
(B)
(©)
(D)

Secondary elaboration process
Sub goal analysis process
Functional fixedness

Reductionism

<1 BT TS & T Bl gga ¥ e f 3ud ared & 9 @ § srerm—osrer s
PR E ST IRATIT A T aD & ?

(%)
(@)
()

(=)

Ig WHT T8 T 3N B v A ey ved &) oreva '
TE A9 ¥ TS e = =9 & wawe 98 9

IE {9 ¥ Fife = oRe srem—aiem e 4 <af @ ot 31
yIfed e

TE G T8 € it JIRRm srel—frafor 9§ &

Two students read the same passage yet construct entirely different

interpretation of its meaning. Which of the following is true about them ?

(A)
(B)
(€)

(D)

It is not possible and the students need to re-read the passage
It is possible because the teacher has not explained the passage

It is possible because different factors effect learning of individuals in
uaried ways

It is not possible because learning is not meaning-making

TSIl &) Uitk # Riete &1 saveRmm &

()
(@)
(1)
)

AHATSIHYT JITIER0T B frior
ARIfEE HIE1 B WievIred
AR e HET P AeTE
EARESRiL

16
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Responsibility of a teacher during process of socialization is ;

(A) Developing social environment
(B) Promoting group activities
(C) Promotion cultural activities

(D)  All the these

fenett =8 G woa o1 99

(®) <= fen & wfore sl o Sovd o SR Tl Tgr e
(@) <= 95w 8 B 5 verd T 9wl @ free aiis § sitan wmem
(M) = dreEn & fog Tar wE fen s

(a) vfifes =R w73 Hran fan g femea 4 < 1€ S99 e @ ar A e
NEREIGH

Learners can not learn unless

(A) They are taught according to the need of social aims of education
(B) They know that the material being taught will be tested in the near future
(C) They are prepared to learn

(D) They are asked about their learning in schools by their parents at home
on a daily basis

T GHMER ¥ 200 Ied 10 T Uy 909 B aX I WAST 399 W 5 904 RS B
Y o8 o+ U1 T 99 969 12 S 9l 99 B e 9 99 ) o 91 wifd o1
EIREI R

(w) w17 % (@) =17 %
(M) 12 % (a1) o a9 =8

i
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A shopkeeper purchased 200 bulbs for Rs. 10 each, however 5 bulbs were fused
and had to be thrown away. The remaing bulbs were sold at Rs. 12 each. The

gain of Loss % is ;

(A Gain17% (B) Loss17%

(C) Gaini2% (D) No Gain no Loss
e o e 957 HEar ¥

(%) (37 (@) (3+3x3)

(M)  [(3+3)-3)P (') (3+3+3)?

The greatest number in the following is ;

a) Gy (B) (G+3x3)y
©)  [(B+3)-3) (D) (3+3+3)

a5 gey a1 8 Afeen R Bl B 12 7 F y w9 3 A S0 B B 2 7o SR
4 AfEed g BN ;

(w) 15RAd (@) 13w

() 13-;~ s ¥ (') 10 =4

If 5 men or 8 women complete a job in 12 days. Then 2 men and 4 women will

complete the same job in ;
(A) 15 days (B) 13- days

(C) 132 days (D) 10 days

A R A B G S 2:5 ST # ¥ 1 B A1 BT U 40 ¥l 5T
ATY B 3R H1 9 B | (et )

(/) 14 (|@) 6
() a0 (a) 10
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The present ages of Soni and Moni are in the ratio 2:5. The product of their ages

is 40. Find the difference of their ages. (In years)

(A) 14 B) 6
(C) 40 D) 10
f&q 1y et @ g <ivem wan

0.000033 + 0.11=7?

(%) 0.003 (@) o0.03
() 0.0003 (g) o0.30

Find the missing number from the given alternatives :

2

0.000033 +-0.11=79

(A) 0.003 (B) 0.03
(C) 0.0003 (D) 030
‘/217+ 60 + 13 + V5 T T &,

(%) 8 (|) 9

(1) 15 (a1) 25

The value of‘j217+ ,Iso +/13++9

(A) 8 (B) 9
© 15 D) 25

19
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The five kingdom classification was proposed by
a) R.H.Whittaker ~ b) C.Linnaeus c) A. Roxberg d) Virchow

Ui orTe TR 3eei yeaTaa foeem o —
W) AR TE. Regeaw @) 9. b ) 7. et w) freh/ !

An association between roots of higher plants and fungi is called
a} Lichen b) Fern ¢) Mycorrhiza d) BGA

TeaaR Ul Tt HaP) b SIS] W U O a1l Hay wEar vl

P) AZDA ) B ) ATSHRILS ") §raw.
Which one of the following is oviparous 7

a) Platypus b) Flying Fox (Bat) c) Elephant d) Whale
FyfeaRes & = sisues ¥ 7

F) ey w|) werrdn Wi (vmmEs) M) gl ) T

To which one of the following categories does adipose tissue belong ?
a) Epithelial b) Connective c) Muscular d) Neural

fer=forfiae foowr Sl & w1y 991 SHad & |ag § ?
) UG o) ¥R ) ¥ w) <fE

Which one of these is not a eukaryote ?
a) Euglena b) Anabaena ¢) Spirogyra d) Agaricus

T N B U S g | ?
F) rer ) T ) TIEHTE ") WWRew

When we homogenise any tissue in an acid the acid soluble pool represents.
a) cytoplasm b) cell membrane ¢} Nucleus d) Mitochondria

g &9 R S B U 3T § STeRpT HARIga N § O 3t 1 goreie g8 3ot Frefolas | @ fraa
Uiyt Fwan g ?

&) BIETE 5 o) v freh ) HEE H) ATl
Mitosis is characterised by

a) Reduction division b} Equal division

c)Botha &b d} None of the above

TR o ) R ¥ —

®) RS R @) uA fauee ) EFiw AR ) ST W | BiE T8

20
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A gland not associated with the alimentary canal is
a) Pancreas b) Adrenal c) Liver d) Salivary glands

T Ui ¥ W MR- © et WSy ?
) R ) T ) ) AR-sifraf

Co, dissociates from carbaminchaemoglobin when
a) pco, is high & pQ, is low b) po, is high & pco, is low
¢) pco, and pO, are equal d} None of the above

fora Rerfer 9 Frafim fereifaa @ Co, e o s & 2
%) PCo, N W Ted B ¥ AW pO, w1 B @) pO, 1 =R wem v ¥ 8l peo, @ e
M) peo, WM pO, TR FI A TR SN T ) IR 3 & 3 & 78

The cells involved in inflammatory reaction are
a) Basophils b) Neutrophils ¢) Eosinophils d) Lymphocytes

P THR I W1 heerd s @ fag smavaw d ?
) SRR @) SErdErl ) gaifRrrh o) T

Which of the following is removed from our body by lungs ?
a) CO, only b) H,0 only c)CO,and H,0O  d) Ammonia

ferrferiRae 4 < el v el ot Freamem Tam e 3 Bwsi B aga o) A R oy ?
®) @ad CO, g) @aet H,0 1) Co, 8k H,0 ") syt

Ribs are attached to

a) Scapula b) Sternum c) Clavicle d) Hium
waforal wEl WSt BN ¥ ?

) YA TR ) Sy ) wAfne X ) gl w
The part of internal ear responsible for hearing is

a) Cochlea b) Semi circular canal

¢) Utriculus d) Sacculus

SR Pl BT Tb WRT Foreds RO G g § —
%) Foifed @) SE—guTHR AT
) gf o) 7T
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Cortisol is secreted by

a) Pancreas b) Thyroid c) Adrenal d) Thymus
wifeHa ey sfia S ?
) ST W) URiss ) T o) AIZAA

Leyding cells produce a group of harmones called
a) Androgens b) Estrogens ¢} Aldosterone d) Ganadotropins

AT B TF FHIT—WE B Sea o7 §, R e o ¥ -
®) TG W) TEIeH ) YRR u) wrReefm

Which of the following can be made into crystal ?
a) A Bacterium b) An Amoeba ¢ Avirus d) A Sperm

ferfaRaa ¥ 5 ea S S g st wpar & ?
%) ST @) sl 1) feremy ) TpeT]

Amoeba acquires its food through a process, termed
a) exdoytosis b) endocytosis c) plasmolysis d)botha &b

ariran fore wfean & R Wi Wi SYa ¥, 98 SEe § -
F) qf2 BT ) 30 BIRTH 1} Hggerad ") % ik g gl

Nervous fissue is not found in
a) brain b) spinal cord c) tendons d) nerves

<Pt ~ e Tgl T8 U o § -
&) Afkass H @) ey d W) wewaall ¥ w) dfrer 3

The fusion of Gamete produced by Mother & that of Father forms which of the following 7
a) Gamete b) Zygote c¢) Offsprings d) Clone

e g 1oy 18 g oIR firn g faw g g @ e Preafafaa 4 3 frad sud Sk ?

™) JHE ) g ) A ) T
The average life - span of Dog is

a) 20 years b) 16 years ¢) 10 years d) 5 years
AT BT A Wi Bt B § -

) 20 T§ =) 15 a9 T) 10 99 o) 599
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Life span of ovum is

a) 60 hours b) 12 hours c) 24 hours d) 8 hours
379 T Wa—wTel ¥ —
F) 60 T &) 12 HE q) 24 WS ") 8 o

Fertilization outside body is called

a) In vitro b) In vivo c)Botha &b d) None of the above
TR & AT 89 T8 Five o wed -
7)1 g =) g1 a1 ) FAR" o) Suae # & B T8

In family planning the surgical method of cutting & folding of vas deferens is called
a) Tubectomy b} Ovarectomy c) vasectomy d) castractomy

TREr Frelier & fore gl B ey o & R @ wey § -
F) i TEs w) Radfrsmen 1) o o H) BRERREM!

Study of population is called -

a) Kyllography b) Psychology c) Biography d) Demography
WTEHEHT S AT Y —

@ ) DA W) wfEm 1) Iy ") SIS
Which one is called father of Genetics ?

a) Mendel b) Morgan c) Lamarck d) De Vries
AT B foren R ey & ?

&) Hed W) \r ) I ®) & =

Which is the following is a sex-linked disease ?
a) Night blindness  b) Glaucoma ¢) Haemophilia d) None of the above.

Frefafaa & eF—w da-—da=m s ?
F) Wi @) Tl ) Yafsferm o) e 7 ¥ BIE W

Nucleic acid is a strong acid. The cause of its acidity is
a) Phosphate b) Sugar c) Nitrogenous base  d) Hydrogen bond

~feTn 37ve U Tge el X1 ST Sl BT B ¥
F) BivheH LEPR L 51 ) AEEIAT 8RR H) TSS9 que
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Which Nitrogen base is not found is DNA 7

a) Thymine b) Uracil

¢) Guanine

T A P11 AEeo ARSI L. A TR Aa § ?

@) ansfE o) gataa

1) T3

Which is called as Golden period of Mammals ?

a) Mesozoic era b) Cenozoic era

c) Paleozoic era

Frfefaa 4 9 5 W nd @1 woiee agd § 7

%) fEs ™ W) WHEREE
Dodo is -

a} Extinct species

¢) Threatened species

W) Aferisig® T

GET IT ON
Google Play

d) Cytosine

) AREIRT

d) None of these

o) B

b} Endangered species

d) All of these

1) srgREre it

c) Malaria

el g -

%) fagm urh ) Hheu uit

Which of the following is protozoan disease ?
a) cholera b) T.B.

TR W B WIEoen ST 9 e ?

o) Bl ) &g I

World's AIDS day is celebrated on -

a) 1st May b) 20th December
ﬁwm%‘mmm?—
EORKE] w) 20 fFR

The maijor crop of tropical region is -

a) Rice b) Wheat
Tieror e &1 W ST § -
) g )W

‘Kalyan Sona’ is variety of
a) Wheat b) Rice

“eheor vt T e 7
) |} aH

24

) Heifdat

c) 1st June

1) 15A

c) Maize

) HFH

¢) Maize

) Hg

") 34 9 9l

d) AIDS

o) TSd

d) 1st December

) 1 R

d) Barley

o) ol

d) None of these

H) T A BE T
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Most of antibiotics are produced from

a) Fungus b) Yeast c) Algae
stftrpier wfrofas dor fre o -

F) el | @) IR | ) Prare 9§
Gobar gas is an important factor for

a) Butane b) Ammonia c) Methane
MR I B T T Hew ¥ -

&) e @) s ) g
Agarose gel is obtained from

a) Sea Weeds b) Maize ¢) Hydriila
TIRIA e TR v e & —

F) S I W @) Wl ¥ ) e w
Fungus is filtered by which enzyme ?

a) Chitinase b) Lysozyme c) Celulose
wereh <! Tore Tomgw 3 wniee R o 5 7

F) Frgiew ) FgAIGE ) AgAr

‘Cry Gene’ prevents which crop from boll worms ?
a) Cotton b) Mango c) Tea

‘T8 i dietant® ¥ 6 B o qarar s ?
%) DURA g) A 1) =1

Which one is ‘Thiamin Vitamine' ?
a) B, b) B, c} B,

B AT el ¥ ?
) B, )T, )3,

Which one is the clearest unit of Biosphere ?

a) Cell b} Tissue ¢} Organ
S HEe] ¥ WY VI ST B RN wE E 7
&) BITHT W) e ) 8

25

GET IT ON
Google Play

d) Bacteria
) o] &
d) Ethane

o) g2H

d) Fern
)W

d) Galactose
) oS

d) Wheat

)N

d} Organism

) o
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which is the following is the insectivorous plant ?

GET IT ON
Google Play

a) Drosera b) Nepenthes ¢c)Botha&hb d) Hydrilla
o & 9 @ S wel den & —

) AN ) Tref )7 iRTIE w) BEfgen
The trophic level of lion in forest ecosystem is

a)T, b) T, c} T, dT,
-1 H ¥R I U] TR ¥

Eﬁ) T3 @) Té T[) TZ H) T1

Two factors of ecosystem are

a) Plants and animal b) Biotic & Abiotic

c) Oxygen & Carbon d} None of above

qiRRaRkie o3 @ ) ¥ed 3§

%) 9 Tg wh ' Tq) SiEs 1 s

1) iR Td BEH ) SRl § @ o w8
Sundervan National Garden is located in

a) Rajsthan b} M.P ¢) West Bangal d) U.P.
avas T v Rew ¥ -

) TR @) AT HEI 1) uf¥g §ma ) S We T
Chipko movement was held in

a) M.P b) Utrakhand ¢) Hariyana d) Delhi
forawm! smaTE T@man T

F) 7ed U A ) SavEs § 1) &R § o) fewd A
Earth Summit was held in the year

ay 1972 b) 1992 c) 1952 d) 1962
T e T o sl gen e ?

®) 1972 4 ) 1992 | @) 1952 ® ) 1962
Minimata disease is caused by

a) chromium b) cadmium ¢) Methyl mercury d) Radioactive elements
FrT I g -

%) WIfEH g w|) Heied gr W) frorse @ g w) e v gw g™
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Ozone Layer is found in
a) Stratosphere b) Lithosphere c) Troposphere d) Hemosphere

A IR Topet o UR Ry e ?

F ) TEIMRBAT ) eheiReay ) SR o) TREER
The female reproductive part of a flower is

a) Gynoecium b) Andoroecium ¢) Pollen sac d) Stamen
e < HIGT T 37 @) Hed §

) T @) g T) TRRTRTT =) gIRTR
The pollination in “Semal” take place by

a) Bat b) Birds c) Water d) Air

WHe A e g™ oo gy ?

F) TS @) gl M) o ) TG

If the diploid number of a flowering plant is 36, what would be the chromosome number in
its endosperm

a) 36 b) 18 c) 54 d) 72

ﬁﬂ%ﬂg@maﬁﬁgﬁmmae%wwmﬁwnﬁﬁmwﬁﬁ ?

@) 36 ) 18 ) 54 ") 72

Fusion of two motile gametes which are dissimilar in size is termed as
a) Cogamy b) Isogamy ¢} Anisogamy d) Zoogamy

B I AR B GHB] B ForaT FET F —

%) frrgmem W) AHGHD 1) SrAAGTAS ) it

Holdfast, stipe and frond constitutes the plant body in case of
a) Rhodophyceae b} Chlorophyceae
¢} Phaeophyceae d) All of the above

HerTes, Yol er yoof feeni argy ol F Rl e g 2
W) Remd T) FARMmTE Q) forarersdr ) grda w

Which of the following plants is used to extract the blue dye ?
a) Trifolium b} Indigofera ¢) Lupin d) Cassia

TrferRa 4 @ 5w 1) 2 e o W foear o & 2
&) SIEwiferad ) geMH T) S ) By

2+
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i 06 ' Endosperm, a product of double fertilization in angiosperm is absent in the seeds of
a) Coconut b) Orchids ¢) Maize d) Castor

srgerdrel Tredi 4 B friem |y @ Fmfor ¥ e e fead 9l 4 T8 gy ?

F ) ARIe T) anféie ) AT ) 3RsE (des)
io':(_ . Venation is a term used to describe the pattern of arrangements of

a) Floral organs b) Flower in inflorescence

¢) Veins and Veinlets is a lamina d) All of them

R ve vl ¥ o Frefafas § 9 0 & Rrare & e & ar 3 aamm g -

F) g 3 W) geshd ¥ el T A
) Tt | Ry gen R w) vwjga Wi
LO% Cells of this tissue are living and show angular wall thickening. They also provide
mechanical support, this tissue is
a) Xylem b) Sclerenchyma c¢) Collenchyma  d) Epidermis

=% Tad B FRTET T 0 ¥ o) T Bt AR A8 A ¥ a N il W eE i 3

W] B FE E -

®) WIZgETH Q) gETE 1) 3eJA PIVNEH ) g8a =l
;LOQ ' A piece of wood having no vessels (trachea) must belong fo

a) Teak b) Mango c) Pine d) Palm

BT P B The T aied (fpan) =8l o &, Prefafe 3 e wdfta 3 -

T ) B ) HH ) A o)
j j_ o - When we peel the skin of a potato tuber, we remove
a) Periderm b) Epidermis c) Cuticle d) Sapwood

w1q 39 el (@) B e S E il e oo o wu A P sana g ?

%) I (uias) W) gy & ) Sl ) WETS
ii i Which of the following salts does not contain water of crystallisation ?

a} Blue Vitriol b) Baking soda

c) Washing Soda d) Gypsum

fFrefaiag § ¥ Pre—a1 wav1 TR Wel w8l Y@ g ?
<) e dren ) afe e W) grEd BEl ) fawm
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Which one of the following can be used as an acid base indicator by a visually impaired
student ?

a) Litmus b) Turmeric ¢) Vanilla essence d) Petunia leaves

qﬁeaﬁgwﬁa&ﬁzﬁﬁmﬁmﬁﬁmﬁ%ﬁmﬁmmm%mﬁwaﬁm%?
&) forens W) et ) e |9 (o) o) g < degRet

Which of the following is used for dissolutions of gold ?
aj Hel b) H,S0, c) HNO, d) Aqua regia

mﬁwammﬁamwmm%u
%) Hel ) H,S0, ) HNO, o) 3

If copper is kept open in air, it slowly loses its shining brown surface and gains a green
coating It is due to the formation of

a) Cuso, b) Cuco, ¢) Cu(NO,), d) CuO
ﬁmﬁwﬁgmwm%,mwmm{&m@ém%amﬁﬁa%mwm%l
% feas formfor & awor gran & 2

%) Cuso, @) Cuco, ) Cu(NOQ,), ") CUO

Galvanisation is a method of protecting iron from rusting by coating with a thin layer of
a) Gallium b) Aluminum c) Zinc d) Silver

ﬁma%uaaﬁwzﬁﬁwzﬁmmaﬁdwﬁaaﬁ%ﬁwmﬁmmm%%?

&) fifdrm @) vefifram ) Riw o) e

Which of the following metals are obtained by electrolysis of their chlorides in
molten state? i) Na i) Ca iii) Fe iv) Cu

a)l &iv by iii & iv c) i &iii d)i&ii

ﬁw%ﬁaaﬁ%a%ﬂ—ﬁmg@nﬁmmmﬁmmﬁ$ﬁgammﬁm%ﬁ%—
i) Na ii) Ca iii) Fe iv) Cu
w)i& v ) ifi & iv i & iii =i &ii

AN}
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Which of the following elements would lose an electron easily ?
a) Mg b) Na c)K d) Ca

frefafiag ¥ ¥ WrH—a1 T JEF W SAERF @I ST 7
&) Mg =) Na mK ) Ca

If 500 mi of a 5m solution is diluted to 1500ml. What will be the molarity of the solution
obtained.
a) 1.5M b) 1.66M c) 0.017M d) 1.59M

afe 5m Aieren gl Rrers & 500mi @1 1500m| s a6 agaa R o 6 wra faga 6
eI T e ?
%) 1.5M @) 1.66M 1) 0.017M u) 1.59M

One mole of oxygen gas at STP is equal o

i) 6.022 x 10” molecules of oxygen

i) 6.022 x 10” atoms of oxygen

i) 16 g of oxygen

iv} 32 g of oxygen

ali&iv byi&ii c)iii & d) ii & iv

STP w 1 wia aiferdiom 19 aweR §

i) 6.022 x 10* affeiror sTupsdi &

i) 6.022 x 10% affesfror wAsl &

iii) 16 g o &

iv) 32 g JIRTNTH B

w)i&iv w)i&ii )il & o}ii & iv

Chlorine exists in two isotopic forms, CI-37 and CI-35 but its atomic mass is 35:5. This
indicates the ratio of CI-37 and CI-35 is approximately.

a) 12 b) 1:1 c}1:3 d) 3:1

TN @ §1 RS B € C-37 ©d CI-35 1R 3761 IRHIY] 991 3555 Bl ¥
7rg genen & f% Cl-37 wd Cl-35 o1 argam & —
®) 112 @) 11 )13 H) 311

Among halogens, the correct order of amount of energy released in electron gain
(electron gain enthalpy) is
a) F>Cl>Br>| b) F<Cl<Br<l c) F<Cl=Br=l d) F<Cl<Br>|

el H geaer urw B el el & A (gode wfdn wied) o1 98 w5 B
@) F>Ci>Br>| W) F<Ci<Br<i 1) F<CI>Br>| ) F<Cl<Br>{

-l

B0
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In which of the following substances will hydrogen bond be strongest ?
a) HCI b) H,O c) Hi d) H,S

Terferea # < v weel ¥ wsio smive vaoraw S 7
w) HCI %) H,0O 1) HI ") H,S

Which of the following property of water can be used to explain the
spherical shape of rain droplets ?

a) Viscosity b) Surface tension

¢) Critical phenomena d) Pressure

aﬁaﬁﬁmmwmﬁﬁﬁmm%ﬁwﬁaﬁmﬁﬁmwmwmmm%?
W) T @) g% e ) Wikt wReer w) Tmw

The enthalpies of elements in their standard states are taken as Zero. The enthalpy of
formation of a compound.

a) is always negative b) is always positive
¢) may be positive or negative d) is never negative

aﬁﬁaﬁwmﬂwﬂﬁwﬁw&aﬂaﬁwwm%lﬁﬁm%ﬁmaﬂvm
) W THoTE B ¥ W) A D R g
) TS g1 RS B Wepal ¥ H) 0 o 8 8 awd ¥

In the chemical reactions the compound ‘A’ and ‘B’ respectively are
NH,

a) Nitrobenzene and Fluorobenzene

b) Phenol and benzene

¢) Benzene diazonium chioride and Fluorobenzene
d) Nitrobenzene and chiorobenzene.

ﬁﬂ%@a?mﬁmwﬁ@maﬁﬁﬁﬁrmwamﬁ’m:%m

NH,
NaNQ, HBF,
—_— . A T 5% B
HCI, 273K A
F) TGO SN TR 7)) feare ol dofm

) 49 TrEwifY e iR TeREEN ) AEeronT iR dalReei™
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196 Which of the following orders presents the correct sequence of the increasing basic nature
of the given oxides ?
a) Na,0 < K,0 < MgO <Al,0 b) K,0 < Na,0 < Al,O, < MgO
¢) ALO, < MgO < Na,0 <K,0 d) Mgo < K,0 <ALO, < Na,0

frafifes 4 ¥ Se-w w9, Ry T sifegs 3 3t arda vy 31 e B9 Tega Sy ?

%) Na,0 < K,0 < MgO <Al,O W) K,0 < Na,0 < Al,O, < MgO
7} ALO, < MgO < Na,0 < K,0 7} Mgo < K,0 <ALQO, < Na,0
il‘:—} _ KO, is used in space and submarines because it

a) absorbs Co,

b} absorbs Co, and increase O, concentration
c¢) absorbs moisture

d) Produce ozone

KO, @1 SuaiT e 3l gagfeadi 3 foman o & wifs ¥% -
%) Co, i Saeiite i &

@) Co, @ sEviifm o¢l ¥ ik O, & wrea 9 ghg R0 B

1) Y 1 I TRA ®

) sl Yer s ¥

128 6.022 x 10® molecules of urea are present in 100ml of its solution.
The concentrations of solutions is
a) 0.02M b) 0.01m c) 0.001M d) 0.1M

IR @ 6.022 x 10% 21y, 3w 100ml # SuRem 21 Raga @i wre -
) 0.02M @) 0.01m 1) 0.001M ) 0.1M

i.‘)— 9 T The standard emf for the cell reaction,
Zn + Cu® — Cu+Zn”

is 1:10 V at 25°C. The emf for the cell reaction, when 0.1M cu® and 0.1M Zn*"
solutions are used at 25°C is

a) 1.10V b) -1.10V c) 2.20V d) -2.20V

Jet affF, Zn + Cu®* —— Cu + Zn?* 1 25°C wewras emf 1.10v 2

w9 0.1M cu® alie 0.1M Zn* 3e fiemm =1 25°C W sudi fvg o & < e sififdean @ emf grm
%) 1.10V @) -1.10V 77) 2.20V ) -2.20V

a9
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In which of the following compounds, an element exhibits two different oxidation states.

a) NH,0OH b) NH,NO, c) N,H, d) N,H

FresforRae difs A & frerd @1E e &) sifadiamor s goifar s ?
@) NH,OH ) NH,NO, ) N,H, ) N,H

Which of the following hydrides is electron precise hydride ?
a) B,H, b) NH, c) H,0 d) CH,

i 4 @ o w rers wewei-uReyg seemey ?
&) B,H, =) NH, 1) H,O ) CH,

Which of the carbonates given below is unstable in air and is kept in Co,
atmosphere to avoid decomposition
a) Beco, b) Mgco, c¢) Caco, d) Baco,

A 1 1y Fratel # @ B wrate ang W sra 2 ¥ R R armEes @ TaE @
ferg Co, & argveea ¥ <@ v &

%) Beco, @) Mgco, ) Caco, ") Baco,

Boric acid is an acid because its molecule

a) Contains replaceble H' ion

b) gives a proton

¢) accepts OH from water releasing proton
d) combines with proton from water molecule

ARG 3wt T 37 & D 5e1ab a1y
%) W uRrenwig H smae e 3

W) Wt S §

) W A OH' e vieh famre S ¥
) STl W Y 370 & WeTH < < w ¥
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173 Z/ . The IUPAC name for
Cl

<

CH,

a) 1-chloro-2-nitro-4-methylbenzene
b} 1-chloro-4methyi-2-nitrobenzene
¢) 2-chloro-1-nitro-5-methylbenzene
d) m-nitro~-p-chlorotoluene

Cl

™

CH, B [UPAC sm &

W) 1 — TR — 2 — TEC) — 4 —~ Fensa oA
) 1~ TR — 2 — THemgel — 4 — strse) doirs
) 2 — AR — 1 — =BGl — 5 — Fersa 6iF

H) M — TRl — p — wAREEA '

i A8 If A,U° of formation of CH, (g) at certain temperature is -393 KJ mol.
The value of A, H® is
a) Zero b) < A U® c) > AU® d) equal to A, U°®

s Fif¥=a @ W CH, () 999 @ T < A, U° &1 7M1 -393 KJ mol” 1 < A,H® @1 7i[ 3/
T) T g) < AU° M) > AU° T) > A U° & gurear

j_ Y- Which of the following is not an example of redox reaction ?
a) CuO+H, ——> Cu+H,0
b) Fe,0, +3CO—* 2Fe + 3CO,
c) 2K+F, —>  2KF
d) Bacl,+H,5O,——> Baso,+2HCI

Frfafa # & e9-—<0 afafem Yefr afifran @ S @ ¢ ?
a) CuO+H, —>* Cu+H,O

b) Fe, 0, +3C0O ——— 2Fe + 3CO,

¢) 2K+F, —> 2KF

d) Bacl,+H,S0, —> Baso,+2HCI

3y
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‘The oxide that gives H,0, on treatment with dilute H,S0, is
a) PbQ, b) Ba0,.8H,0+0, c¢)MnO, d) TiQ,

% sifeargs Wi g H,S80, 3 v w H,O, 3 &
%) PbO, W) Ba0,.8H,0+0, ) MnO, ) TiO,

Which of the following is not an actinoid ?

a) Curium, Z=96 b) Californium, Z=98
¢) Uranium, Z=92 d) Trbium, Z=65
=1 4 A @ W e tReTas A8 R 7

&) Fgfaw, Z=96 w) dfermifrm, Z=98
M q@PEm, 7=92 u)<fum, Z=65

Which among the following is most reactive ?

a) Cl, b) Br, c)l, d) ICI
e W o B9 e afde frmia & ?
=) Cl, =) Br, ) |, H) ICl

Which of the following reactions is an example of auto-reduction ?
a) Fe,0,+4C0O — 3Fe +4CO,

by Cu,O+C —> 2Cu+CO

c) Cu”, *+ Fes, —> Cuy + Fe™,

)
d) Cu,0 + % Cu,S — 3Cu+% SO,

Frferiaa afdfommatl # & Sm—< wa: s @1 v gerevor & ?
®) Fe,0,+ 4CO — 3Fe + 4CQ,

9)Cu,0+C — 2Cu+CO
) Cu*,, + Feg, —* Cug, + Fe .

) Cu,0+% Cu,S —» 3Cu+ %SO,
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Which of the following pairs of ions are iso-electronic and iso-structural ?
a) CO,%, NO, b) ClO, , CO,* ¢) So,”, NO; d) Clo, , SO.”

o1 3 & SF-1 smaHil &1 g GAgagI iR WHEREATHS ¥ ?
%) CO,%, NO, @) Clo, ,CO,* ) So,”, NO; ¥) CIO, , SO.*

The Co-ordination numbers of CO and Al in [COCI{en),] Cl and K3 [AI(C,0,).]
respectively are {en in ethan -1, 2-diamine)
a)5and 3 b)3 and 3 c)6and6 d)5and 6

[COCI(en),] Cl gen K3 [AI(C,0,),] # CO aen Al it Prelfier e (Way g $9er: ¥ —

(en — 289 —1, 2 — STIATS)
)5 AR 3 )3 3R 3 )6 3R 6 H)s53iwe

The maijor product of the following reaction is -
(i) KOH alc
CHa-CHz-CI-II-C}TI L S
Br Br (i) NaNH,

in Lig.NH,
a) CH,-CH,-CH-CH, b) CH,-CH = CH-CH-NH,
[ |
NH,NH,
¢) CH,-CH = C = CH, d) CH,-CH,-C = CH
Fer=iferiiaa 2iftifehan &1 e Soae o=
) CH,-CH,-GH-CH, @) CH,-CH = CH-CH-NH,
NH,NH,
M CH,-CH = C = CH, ) CH,-CH,-C = CH

Which of the following is not a semi-synthetic polymer ?
a) Cis-polyisoprene b) Cellulose-nitrate

¢) Cellulose-acetate d) Vulcanised rubber

g A < B o dveifda agem g ¥ 7
) Rra—difaemgaia @) A Hgee
T) ST o) qebHIrga <a%

36
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Which of the following carbohydrates are branched polymer of glucose ?
a) Amylose b) Amylopectin ¢) Cellulose d) Glycine

= 4 ¥ P Brafese @ @ e agae ¥ ?
%) AR @) tiyefes ) el o) eEhE

Among which of the following compounds, which on is found in RNA ?

o o) NH, 0
i M cH, i M I i ME
a) (\ N b) E\N 0 N/j d) (\ N
g oo Lo UL
! & b ME
Fr=foaa B—ar 9ifis &, it RNA & 9 wren & ?
q { Ny ‘u’
[\N,H Chi, NS N \oME
) @) {\ 1) j ) (\
N) 0 N) h'e) kN *0 N) *0
B H H ME

Which of the following reagents would not be a good choice for reducing an
aryl nitro compounds to an amine ?

a) H,{excess)/pt b) LiAIH, in ether

¢) Fe and HCI d) Sn and HCI

& gl Wi B sraerE g vfiE ¥ uRafifa w9 e fre A @ 98 w1 sl
T T HIAT 31EST T8 2 7

@) H,(sfraa)/pt @) Ser % LIAIH,

7) Fe 9211 HC 5} Sh e HCI

3
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Which of the following should be most volatile

a) CH,CH,CH,NH, b) (CH,),N
¢) CH,CH, d) CH,-CH,-CH,
> NH
CH,
Terfefas o & S w1 waifees arusie 8 =iy ?
) CH,CH,CH,NH, @) (CH,),N
1) CH,CH, ") CH,-CH,-CH,
> NH
CH,

Compounds A and C in the following reaction are

i. CH,MgBr H,S0, Hydroboration
—— Al ———— [B]

CH.,CHO
. ii. H,O A Oxidation
a) ldentical b) Positional isomers
¢) Functional isomers d) Optical isomers
ferefoRas sif¥fean 3 9 A SRV 2
i. CH,MgBr H,S0, Hydroboration
CH,CHO ——m [A] —— [B]
i. H,O A Oxidation
) FEH g) Reafy wwraaa
1) YpTateTd THGI ) avl AHEEH

An ideal gas expands in volume from 1x10° m’to 1x107 m’at 300K against a

constant pressure of 1x10° Nm®. The work done is-
a) -900 J b) -900K c) 2710 KJ d) 900 KJ

P snael 19 1x10° Nm? @ foreR garg & faeg 300K ®w 1x10° m® | 1102 m?

o A | wer ¥ e T wnt (em) & -
w) -900 J ) -900K 72710 KJ ) 900 KJ

29
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Date of Exam:-14.09.2020 (TIMING:- 8.00-10.30 A.M. Sitting: 1

Q.No| Ans. Q.No. | Ans. |Q.No.| Ans. {QNo.| Ans. |Q.No.| Ans.
1 ¢ 31 B 61 A 91 D 121 c
2 A 32 B 62 B 92 C 122 B
3 B 33 D 63 A 93 B 123 B
4 B 34 D 64 C 94 B 124 C
5 B 35 c 65 A 85 c 125 c
6 A 36 B 66 C 86 B 126 C
7 B 37 B 67 B 97 B 127 B
8 B 38 C 68 C 98 C 128 B
9 D 39 C 69 B 99 A 129 A
10 A 40 B 70 c 100 A 130 B
11 B 41 D 71 C 101 B 131 D
12 A 42 C 72 A 102 C 132 A
13 C 43 D 73 C 103 c 133 C
14 9 44 C 74 D 104 c 134 B
15 A 45 A 75 A 105 B 135 B
16 C 46 B 76 C 106 B 136 D
17 ¢ 47 C 77 A 107 c 137 B
18 C 48 B 78 B 108 C 138 D
19 D 49 C 79 B 109 c 139 D
20 D 50 C 80 A 110 A 140 D
21 C 31 A 81 C 111 B 141 D
22 B 52 C 82 D 112 C 142 b
23 D 53 A 83 A 113 D 143 D
24 C 54 B 84 A 114 B 144 A
25 D 35 B 85 D 115 C 145 B
26 B 56 A 86 C 116 D 146 A
27 C 57 B 87 A 117 C 147 B
28 D 58 B 83 c 118 B 148 B
29 C 59 B 89 A 119 A 149 B
30 A 60 B 90 A 120 C 150 A
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